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Missing numbers - answers 

1. 4 + __ = 6 

2. 12 + __ = 15 

3. 17 + __ = 23 

4. __ + 8 = 19 

5. __ + 12 = 20 

6. 7 – __ = 2 

7. 21 – __  = 5 

8. __ – 2 = 35 

9. 2 × __ = 12 

10. 5 × __ = 35 

11. __ × 7 =  63 

12. 24 ÷ __ = 4 
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The answers are in bold. 

1. 4 + 2 = 6 

2. 12 + 3 = 15 

3. 17 + 6 = 23 

4. 11 + 8 = 19 

5. 8 + 12 = 20 

6. 7 - 5 = 2 

7. 21 - 16 = 5 

8. 37 - 2 = 35 

9. 2 × 6 = 12 

10. 5 × 7 = 35 

11. 9 × 7 =  63 

12. 24 ÷ 6 = 4 

If you have trouble with these questions, try different strategies to help. For example, in 
question 1:  

 You could say: ‘what do I need to add to 4 to give me 6?’. 

 Try counting on from 4 until you get to 6 - a number line might help (see the ‘Using a 
number line’ factsheet).  

 Subtract 4 from 6 to find the difference. 


